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General Instructions :

i ‘The i i .

{i) SIEC !ig ::stmn Paper comprises of three Sections, A, B and C. You are to attempt all the

{u') All questions are compulsory,

(i) Al questions of Section-A, Section-B and Section-C are lo be attempted separately,

(iv)  Question numbers 1 to 3 in Section-A are one mark questions. These aretobe
answered in one word or in one sentence.

(v)  Question numbers 4 and 5 in Section-A are two marks questions. These are 1o be
answered m about 30 words each.

(vi)  Question numbers 6 to 16 in Section-A are three marks questions. These are 1o be
answered in aboul 50 words each.

(vii) Question numbers 17 to 21 in Section-A are five marks questions. These are lo be
answered in about 70 words eacl. -

(viii}  Section B has 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.

(ix)  Question numbers 25 to 33 in Section-C are multiple choice questions based on
practical skills. Each question is a one mark question. You are 10 select one most
appropriate respanse out of the four provided to you,

) Question numbers 34 ta 36 in section C are hwo marks questions based on practical
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WIM-31 / SECTION-A

1
:::THWWWWTWWEMWWMWWF 1
a
ormed the basis for John Dalton to formulate Dalton’s atomic theory ?
2 F—m{ﬁ L
Waiﬁﬁﬂmm AR YR e S 3 AT gfe i 1

N Cl ﬂ]pu.

17

ldentﬁ'. the umr.t stablf_-
Na], CLz, Al Ary

3 ﬁ ’.qn, ﬁ -] * I-:f ﬁ ﬂf
M o |
(@ &=
Classity the tollowing diseases as infectious or non

(i) Coavicar -infeclious :
(i}  Cholera

Ao i
atom from the f. ollowing,. Also pive a reason for vour answer,

4 3 & 51 o ferfian—
(a) g z
(b)  mifarr vy
(€) i
@&y ==
Give SI unit of the following :
(a) Density ’
(b)) Relative density ‘
(c) Thrust

{(d) Pressure

. _— 5 .
2ﬁﬁ"{mqmmm’1qmnahuﬁq; nfes St faaum & H @ eferfaa Fif
Compute the speed of 2kg ball having kinetic enerpy of 41, i

6 () Al wegtEs o vante g ffu

o . = = 3
(i) n.ﬂs‘»lgqqf:rﬁmmm(:uzoj}ﬂﬁqﬁfmmmmmqmaﬁmlm
TSIE Al = 27u] '
(i) Write the chemical formula of magnesium hvdroxide,
1 o ] : 5 [ i 4
il;'l&q ] fC' ,a:;_ u;'t::; ]llm number of aluminum ions present in 0,051 g, 0l aluminium oxide {Alomic
7 () 99, ufgwa & wonfvas wlee 2 d@me w7 3

(b) T BRI Rl TR sre O R wEm T e i)

e ol
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(ﬂ} Whﬂt are the Hmitae
(b)  Describe I:hf.? c]:-? Hations of 1) Thomsons model of an atom.

article scattering experiment carried out by Rutheford.

B WP et e it i

fafay)
1 e =
Q e () W @y wim HEAITE
vame the elements present in the following compounds ;
{i) Water (ii) Lead nitrate (idi) :

Copper chloride

9 ;

fafv.tﬁrsﬁqﬂmym‘maﬁ, 3H 0 i st fiafi

List any three characteristics of the phylum Lo which hydra belongs.
10

ﬁmﬁﬁﬁﬁmamamwﬁwﬁw:

TSR (ALDS), werr (i), fon, 3o T 7, Frsitfpm, S
Classify the followin

: g, diseases as infections and non-infections ; AIDS, Tuberculosis, Cholera,
High blood pressure

» Pnenmonia, Cancer

N @ Grdfmendn §2 famdiid # o) =@ fasdl & i & o ferfi
b)  Trrim i A few www fm eR 2
(@)  What are Cryplogamae ? Name any two groups which come under C ryptogamae,
(®)  How Cryptogamae are different from phanarogamae ?

12 (8) % 7 form T A wm F g7 wwh €7 4
(b)  EEEEE F v e arg # e
() HTTF O o1 % e § 7

{a) What is the condition for an object to sink in water ?
(b) Why do hvdrogen filled balloons float in air ?
{c}  What is meant bw relative density ?

13 @ e WA i we wrsn w ek w - 3
@) @ w0l 5w vER w5 e 3
(o) 7@ wen w6 v faf aa o aw s fafad v W o e

e | ,

(i) mmwﬁ@ﬁmwwmmﬁmwmmﬁmwﬂﬁﬁ
# |

(i) The speed of certain waves depends on the medium,

(@  What kind of waves are they? ‘ .
(D) Give two kind of such waves and give one difference between them. Give one

xample of each. .
i [I:J amgnnﬂ type of wave which does not need any material medium to propagate.

14 ﬁmﬁﬁmmwwmmnﬁmﬂmwm1zwuﬁmmm"§13
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In a factory 10 bulbs of 50 W each and 5 fans of 70 W each operate for 12 hours daily,
Calculate the units of electricity consumed. Also find the total expenditure if 1 unit costs ¥ 2.

15 A € 3 Tt A b & st €
O TR W G AW qon e wew @ woatia @3 % w2 x10-5 ddw w3 3l 3
T A 3¢ 108 s~ &, T 3 g fn wnd e el 71 k7
f"'. racar signal isrm-ciwd 2x10~5 sec after it was sent and reflected by an aeroplane. How far
is the aeroplane if speed of waves is 3x 108 m/ sec.
16

U 8 A G 6 A I T e w o e w9 9z wfR W g T sl 3
ﬁm%ﬂﬁ?ﬁmmﬁ#&mﬁmﬁ%ﬂﬁwamﬁmﬁﬁ i 31 HEg F |

(@) FWR T GE WE T A 30 g0 =i 3w e e

(b) YR fai fak T R & fe i snfm e

(© W F 38 73 =i F wh wE i T e g i

;’Lnkt:.lld man was standing on & bus stand carrying 4 very heavy luggage, Saurabh was
ooking at the old man and finding him uncomfartable, requested him to put down the
luggage and helped him indoing so.

(a) Lid the old man do any work while holding the luggage ?

(b) Derive the equation for work done against gravity ? PR

(c) Which side of Saurabh's nature is reflected by his feelings towards old man ?

17 (a) Fm*ﬂ“ram"?mr{mwmfff’a‘eﬁm*ﬂm20‘:1&1%@114{1%_:“@;;;1_gﬁﬁ 5
e gt w1 e e wif won w1 gl e fefay wn s Y] &

/= T wifeg )

(b) U WHTY K AL R WO | T T S o o, sve o & svaen s e m R0
9 T F g it

(@)  Calculate the number of electrons, protons and neutrons in an atom of an

element with atomic number 20 and mass number 40. Write the  electronic  configuration

and draw the structure of the atom. ’

(b)  An atom has complete K and L shells. Is this an atom of a metal, non-metal or noble
gas 7 Justify.

18 @ 3= farm & e 87 99 faww aw wiERm & v wnddu 87 Iwoam o s
Hd w1 TF =R fafan) i
(b) 9 gE sl @ geere Fifag fm w arefirl am sigs ) B el e b

{a)  Whal is evolution ? What is the relation between evolution and classification ? Give an

example of the above relation.
{b) Mention two important basis on which plants and animals are put into different

- categeries,

Page 4 of 9
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“Educating parents would h

; elp a lot in reducin nci { diseases in children”.
Justify the statement with fiv g the incidences o

£ reasons,

0 @ Wi 0 7@ 3 v s

(b) mmmﬁmpmmmnﬁm‘mqam|
© % wwEww w1 v fafay

(d) 500N WR % UF e g e W wm SR w1 A Tma w1 geE Sued
25em? I

(@)  Define thrust and pressure. —

(b)

Give the mathematical formula that relates thrust and pressure.
() Detine 1 ascal.

(d)  Calculate the pressure exeried by a block of weight 500 N if the surface area in contact
is25cm2.

21 (@) ®uR W w0l | faemm 4 efgzdl @ s fafay W w5 A wd T mn d mEeE S
£4
(b) TG wU N Femm W s fEe

(@ TrE = m oA am fafag 5 gm e = g 99 A ofefe v 0 mes
£1 fra wen ofas wet =i & w1 F = w0 22

(a) Name the three bones in our middle ear, which help in amplifications of the vibrations

of sound.
(b)  Give the audible range of human ear.
(c) Name that part of the human ear which helps in converting pressure variations into

electric signals. How brain interprets them as sound ?

ST-" (g 918 )/SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplicd with this question paper.)
Senyral &1 WIEIYI/ Conservation of Water Bodies

22 mmﬁaﬁqh@ﬁ,qﬁmmmga:mma}ﬁﬁmmﬁﬁ.m % 3
sﬂmmﬁﬁﬁfﬁ#wmﬁ!‘:mmm | Tetfers
Write a slogan on Repair, Renovation and Restoration programme of water bodies and mention
what efforts can be made lo implement the same.

ﬁmﬁﬁmmﬁﬂﬁmmmﬁﬁ? ;
” What do you understand by sustainable use of resources? |
aﬂmﬁaﬂﬁwiﬁ?ﬁ'ﬁaﬁmwmmmwﬁtﬁ i
24 o
age 50f9
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What are the problems faced by people in solving the water issues and what suggestions are
made (0 overcome them?

- | /Section - C

3 ﬁmﬂmﬁrﬁ%mﬁmm%aﬁ%aﬁa%ﬁw%mmm%: T4 T BRI

TR AR ¥ i
!
ELGE
o
G ne "

—

Ty
(a) maﬁmﬁ%ﬂm%ﬁmitm% HEE
Me® , T it e & Aty w1 was
(b) Wm#mmwmwmm%. ™
(c) Wm%mﬁﬁwwmmmm
{d) mﬁafmaaawachaﬁw%m%%n

Study the graph between angle of inci :
the graph we can say that : gle of incidence and angle of reflection of a sound wave. From

T

Angle
of
incidence
Angle of
reflection —+

(@)  Angle of incidence sometimes increases and sometimes decreases, depending upon the

loudness of sound.
(b}  Angle of reflection decreases wilh the increase in angle of incidence.
()  Angle of reflection increases with the decrease in angle of incidence.

(d)  Angle of incidence iy nlways equal to the angle of reflection,
xm X ym X zm (Faf# x> y > z) fommdl 901 o6 6 & ffeR S m mmwa ) S m s 1

26
dkgfnﬁﬁwﬁaﬁ%lﬁrﬁfﬁﬁeﬁmﬁﬁmWwwmqm%:{3.=mm—z]
(a) 10 xd M xd
() 10y @) 10z

:60f9
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A gold biscuit of dimensions mx

% is plé table. The density
of gold is d kg/m3, The i ymXzm (where ¥ >y > z) is placed on a

ms=2) m pressure exerted by gold biscuit on the table is : (=10
@ 1y @) 10zd

T i) | Hela w0 e 9w w0 ¥ wim i wwm e b
()  fedwt o el sl iy A

b s = dad & e fam i wew

(0 T = Sam s s w sin vierd 3

(dy Tieta) = wivifen wcdm vae 23 R4

In an experiment to find the speed of pulse propagated through a slinky, the pulse is
produced :

(a) by pulling the slinky towards us.

(b} by giving ajerk into the slinky in the direction perpendicular to its length.
() by pushing the slinky in vertically upward direciion only.

() by pushing the slinky so as to compress iL

g wF TR 0l B veEm w S ww § e A @ veg wa e o ge d o
Tl G gt &, 9w § -

(@ fEmwm by  Famiem

(€) TR @y ufren

You are identilying a plant that possesses seeds but not fruits, It may beleng to
(a) Pteridophyta ®»  Gymnosperm

(c)  Bryophyta (d)  Angiosperm

waneTen I i vaaft stk W gegam dem & fam w wemm w6 % g fe o a we
i wifFm S ad #2

(a) aftm swims sl fee wete  faere = frarm

(b) EESEEIE fift svet 3l Hifew engtege % faerl 1 fren)

(@  urRfmm swisEe o e TEie & faerl @ firr

(dy UEfEm ae Fufy faaEE)

Which one of the following chemival reaction is not suitable in the school laboratory to verify
the law of conservation of mass ? \
{a) Mixing Barium Chloride and Sodium sulphate solutions.

()  Mixing Hydrochloric acid and Sodium hydroxide solutions.

() Mixing, Potassium iodide and lead nitrate solutions.

(&)  Thermal decomposition of potassium chlorate.

e 3 Fram W weafoa w0 & forg v sfufimon iz o § = § ot
@) fredry =g werfiE A E@)
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M) == wrEm T
() ﬂmmmmﬁﬁﬁmﬁm
() 9 fog 3 3 2 oy

In order 1o verify the law of conservation of mass, we carry out chemical reactions in a closed
container, so that

(@) gaseous products do not escape

) heat transfer dops nol occur

() reactants do Tot mix with the products
) none of the above

31 mEﬁaﬁma&ﬁﬁﬁmaHﬁa&mﬁmmmﬁmvmlmmw 1
?éﬁmﬁwma#aﬂﬁtﬁﬂaﬂmﬁm%:

(d) W =g g mﬁwﬁnﬁﬁ m-wfsrrﬁaxm

UA b;luﬁem Was given a sample of lily plant 10 study its external features. The correct
*eTvations about the rogy system and leaf venation of the given plant are :
() tap roots and Parallel venation in its Jeaf.

{b} fibrous roots and reticulate venalion in its leaf.
(c) 1ap roots and reticulate venation in its leaf,
(d) fibrous roots and parallel venation i its leaf.

32 H‘mﬁ’?ﬁfﬁnﬁamimﬁﬂaﬁf&aﬁﬁﬂf:
{a}iﬂmm
(ORECCI
(c) TR fermfasam
(d) Sifermare frrfaemy

Broad leaves are characteristic of plants with -
(a) fibrous root system

(b) trimerous flower

(c) paralle] venation

{d) reticulate venation

33 nﬁﬂ%vﬂmwmaﬂaﬁmmmmﬁmwmﬁmﬁmmﬁﬁmnt:i

(a) wmE b)  ayE
(g =m (d) =9 A=
While observing the life cycle of a mosquito Jai observed mouth brushes in a stage which is ;
(a) Larva () Fges _
{c) Pupa (d)  Adult mosquito
‘age 8 of9
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(@)  Forelt oreg o g & e v e B for i ) S et A A fafa 2
(b) T T G N 100 W w0 T S e sieifea e T &1 @0 SRR e 10 T
R 1 20 SR 1 s e ) s e e s Qo S T

(@)  Name the device used to mea - Jiven body in air.

sure {he weight of a given body ; s
(b) 3 ‘“‘ spring balance is graduated to mn-.!.-sun; 100 gawt. and each 10 g part is dividad inte
20 divisions. Find the least count and range of the spring balance.

35 Wmﬁmmm%mmmwﬁfﬁaﬁeﬁuﬁaﬂﬁwmt' &l R 2
T A SR w3 st 1y s et

¥ T,
A cube of copper and a spherical ball of iron having same volume, jmmersed in salty wa
Find the relation between buoyant forces acting on both balls with reasens.

36 (@)  wifea weel w1 ol v T w1 am g
(b)  fis waat % & s fafad

(@)  Why the body of bony fish is streamlined ?
(b) List two habitats of bony fish.

~plinlialio-

rage 9 of 9
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